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s 9,670,048 9,276,488 393,560
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= 80,000 36,000 44,000
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s 99,000 99,000 0
< 62,750 2,800 59,950
s 411,912 697,404 A 285,492
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s 99,000 99,000 0
< 58,750 0 58,750
i 213,217 154,467 58,750
201 2et24d] 72,467 54,967 17,500
< 8,750 0 8,750
i 63,717 54,967 8,750
03 A2 S HI 39,500 22,000 17,500
O&SAIZE &XIeote 17,500 0 17,500
< 8,750 0 8,750
e 8,750 0 8,750
401 Al& Bl 28I 288,500 188,500 100,000
s 99,000 99,000 0
< 50,000 0 50,000
= 139,500 89,500 50,000
01 A& HI 288,500 188,500 100,000
OINE 153 AL (LS AIE) 100,000 0 100,000
< 50,000 0 50,000
i 50,000 0 50,000
20199 & & FHIAY 300,000 0 300,000
= 150,000 0 150,000
i 150,000 0 150,000
401 Al BIZ 201 8] 300,000 0 300,000
= 150,000 0 150,000
[ 150,000 0 150,000
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s 150,000 0 150,000
- SEANE FHAY 4,558 500,000 AN495,442




2N
X ZH -
L= B

el

ANSadl

AR E
=D

o

0z
o lor

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
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01 A& HI 4,558 500,000 AN495,442
O7 SHANZE HHE A% EXNOMEY 4,558 500,000 A 495,442
Fetoraga XA 8,665 6,265 2,400
=) 1,200 0 1,200
i 7,465 6,265 1,200
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=) 1,200 0 1,200
i 1,200 0 1,200
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s 1,200 0 1,200
3ol X 1,058,900 918,900 140,000
= 80,000 36,000 44,000
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s 80,000 36,000 44,000
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= 80,000 36,000 44,000
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= 80,000 36,000 44,000
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= 80,000 36,000 44,000
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s 80,000 36,000 44,000
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04 0IZtHZ22 s+ 348,496 201,376 147,120
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HUXRS EEX 2l 16,356,771 16,183,954 172,817
= 7,981,661 7,981,661 0
= 1,478,319 1,424,082 54,237
[ia 6,896,791 6,778,211 118,580
X<z ¥ etd2te 16,008,617 15,835,800 172,817
= 7,767,501 7,767,501 0
= 1,454,317 1,400,080 54,237
s 6,786,799 6,668,219 118,580
ATHEAHUHX ES AL 1,943,589 1,603,818 339,771
= 219,051 219,051 0
) 130,317 76,080 54,237
i 1,594,221 1,308,687 285,534
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=) 130,317 76,080 54,237
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301 et d = 960 0 960
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= 74,200 0 74,200
SEYE 3 EH| 426,000 0 426,000
s 320,000 0 320,000
=) 31,800 0 31,800
i 74,200 0 74,200
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=) 31,800 0 31,800
s 74,200 0 74,200
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=) 31,800 0 31,800
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